
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7706.5 × 0.001 = ________ 4527.5 × 0.0001 = ________

7645.7 × 0.01 = ________ 2756.4 × 0.1 = ________

5175 × 0.0001 = ________ 9260.2 × 0.001 = ________

6543.3 × 0.001 = ________ 5973.7 × 0.01 = ________

9790.2 × 0.0001 = ________ 8680.6 × 0.001 = ________

3122.5 × 0.0001 = ________ 1904.1 × 0.001 = ________

3873.6 × 0.1 = ________ 8182.1 × 0.0001 = ________

9266.9 × 0.01 = ________ 7290 × 0.01 = ________

7208.7 × 0.0001 = ________ 4758.3 × 0.001 = ________

8796.8 × 0.001 = ________ 6925.2 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7706.5 × 0.001 = 7.7065 4527.5 × 0.0001 = 0.45275

7645.7 × 0.01 = 76.457 2756.4 × 0.1 = 275.64

5175 × 0.0001 = 0.5175 9260.2 × 0.001 = 9.2602

6543.3 × 0.001 = 6.5433 5973.7 × 0.01 = 59.737

9790.2 × 0.0001 = 0.97902 8680.6 × 0.001 = 8.6806

3122.5 × 0.0001 = 0.31225 1904.1 × 0.001 = 1.9041

3873.6 × 0.1 = 387.36 8182.1 × 0.0001 = 0.81821

9266.9 × 0.01 = 92.669 7290 × 0.01 = 72.9

7208.7 × 0.0001 = 0.72087 4758.3 × 0.001 = 4.7583

8796.8 × 0.001 = 8.7968 6925.2 × 0.1 = 692.52
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